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O 

LIFE SCIENCE 

LSE-13 : PLANT DIVERSITY-II 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any six 
questions from question no. 2 to 10. 

1. 	(a) Fill in the blanks : 	 1x5=5 

(i) A gymnosperm having vessels in 
wood 

(ii) Specialized thickening present on the 
endodermal cells are known as 

(iii) Botanical name of Bengal gram is 

(iv) 	 is the smallest flowering 
plants. 

(v) Presence of pollinia is a characteristic 
feature of family 	 
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(b) Mention true or false against the statement : 1x5=5 

(i) 
	

Ephedra is known as living fossil. 

A monocot root has large well 
developed pith. 

(iii) Banana and Plantains belongs to 

family Musaceae. 

(iv) Economically important part in clove 

is fruit. 

(v) Gland dotted leaves can be seen in the 

family Rutaceae. 

(c) Explain the following in one or two lines :1x5=5 
(i) Polyembryony in Gymnosperms 

sperms. 

(ii) Apospory 

(iii) Gynostegium 

(iv) Hypnotics 

(v) Jaculator 

2. 	Draw well labelled outline diagram and a sector 

cellular of the following : 	 21/2x4=10 

(a) T.S. coralloid root of cycas. 

(b) T.S. dicot root. 

(c) T.S. Citrus fruit. 

(d) L.S. clove flower bud. 
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3. 	Differentiate between any four of the following : 

(a) Manoxylic and Pycnoxylic wood 	21/2x4=10 

(b) Carnivorous and Parasitic Plants 

(c) Indica and Japonica rice 

(d) Fatty oils and Essential oils 

(e) Veeners and Plywood 

4. 	Write short notes on any two of the following : 5x2=10 
(a) Lenticels 

(b) Economic importance of Family Palmae. 

(c) Cork 

(d) Umbellate inflorescence 

5. 	(a) How is cross pollination advantageous to 
plants. Write an account of the common 
devices that encourage cross-pollination. 

(b) The leaf undergoes modifications to suit its 
environment. Comment. 	 5x2=10 

6. 	(a) Simple tissues are very important during the 	4 
life cycle of any plant. Briefly explain 
different types of simple tissue present in 
plants. 

(b) Mention any two important theories of 	6 
shoot apical meristem organization. 
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7. (a) Write an account of the botany and 
improvement programmes of maize. 	5x2=10 

(b) Gnetum plant resemble a dicot, yet it is a 
Gymnosperm. Explain. 

8. (a) Briefly mention different methods of 
obtaining vegetable oils. 	 5x2=10 

(b) What do you understand by nobilization of 
sugarcane ? 

9. (a) Briefly mention the processing of tea/coffee. 
5x2=10 

(b) According to the content of resin, three 
types of narcotics are obtained from 
cannabis plant. Explain. 

10. (a) Describe with the help of diagrams, five 
diagnostic floral features of family 
Lamiaceae/Euphorbiaceae. 	 5x2=10 

(b) Describe any five diagnostic feature of the 
family Arecaceae/ Poaceae. 
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